oooooo(oo:o0o0o00)! 20120 100 150

6 000:Z/pzZO0OO0O0O

000 zZ/nZ0O000 +00000,0 -0
a-b=ab
Oooooooooooo.

OO0 6.0 000 -0 well-defined DOOODODOOO.

00 Z/nzZz0O0O0O00O0O0O0 400000 -0000000000 (DODCOO
0,0000000000000O00000).

00 6.1 (1)p000000.000 a,beZ/pZ (a,bcZ)DDDO0O,
a-b=0 < a=0000b=0

Doo0oO0oO0oooo.
(2)n00000000000000000.000,00 abeZ/MZ00000
a#0,b4A000 a-b=000000.0000000000.

p00000000,000 (1)00000,abeZ/pZz0000,00 a#£00
0040000 @ b£0000000000.000000

(Z/pZ)* == (Z/pZ) \{0} ={1,--- ,p— T}
0000, (z/pz)* 000 -00000000.
00 6.2 000000 (Z/pz)* 000 -000000000000.
0000000000000,00 (Z/pZ)*0000000000000000.

00 6.3 (1) (zZ/5z)* 0000000000000O0O
(2) (z/13Z) 00000D00000000OO0.

000000 http://www.math.tsukuba.ac.jp/ amano/lec2012-2/e-algebra-ex/index.html



